ALOIS PRASCHBERGER
Rolltechnik & Sport GmbH

7

Spare Part Price List

BIKES
Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+CCp Sugp.
Tires:
900.116.00 [16" x 1,75 Marathon Plus (47-305) pc. o 29,90 €
900.116.01 |24x1" Marathon Plus mishaps protected (25-540) grey pc. o o 42,90 €
900.116.02 [24x1 3/8" Marathon Plus mishaps protected (37-540) grey pc. o o 42,90 €
900.116.03 |26x1" Marathon Plus mishaps protected (25-559) grey pc. o o 38,00 €
900.116.05 |24x1" MarathonPlus Evolution mishaps protected (25-540) HS440,EvolutionLine pc. o o 48,90 €
900.116.06 |26x1" Marathon Plus Evolution mishaps protected (25-559) black pc. o o 44,90 €
900.116.12 |24" x 1.75 Land Cruiser - All Terrain (47-507) HS450 black pc. o o 20,90 €
900.116.13 |26" x 1.75 Land Cruiser - All Terrain (47-559) HS450 black pc. o o 26,90 €
900.116.19 |26x2.25" Schwalbe - Black Jack (57-559)HS407, Active Line, K-Guard, black pc. o o o o 21,90 €
900.116.22 [20" x 2,15 Schwalbe - Pick Up (55-406) HS609, Performance pc. o o 42,90 €
900.116.23 |20" x 1,75 Marathon Plus mishaps protected (47-406) black pc. o o 43,90 €
900.116.24 [24x1.75 Marathon Plus mishaps protected (47-507) black pc. o o 43,90 €
900.116.26 |24" x 1.90 Schwalbe - Black Jack (47-507) pc. o o 21,90 €
900.116.34 [26x1 3/8" Marathon Plus mishaps protected (47-559) pc. o o o o 43,90 €
900.116.37 |16" MTB tires pc. d 19,20 €
900.116.39 [26x2.10" Schwalbe - Hurricane (54-559) Black-Reflex pc. o o o o 37,90 €
900.116.43 |27,5x2.25" Schwalbe - Smart Sam (60-584) Black-Reflex pc. o o 31,90 €
900.116.44 |26" x 1,35 Schwalbe Marathon Plus 35-559 pc. o o o o 43,90 €
900.116.45 |27,5x2.40" Schwalbe - Hurricane (62-584) Black Reflex pc. ° ° 43,90 €
900.116.46 |16" easy running pc. o 31,90 €
900.116.47 [20"x4.0 Fat-Bike-Tires pc. d 28,95 €
900.116.48 [20" x 2,35 Schwalbe - Pick Up (60-406) pc. o o 42,90 €
900.116.49 |20" x 2,15 Schwalbe - Big Apple (55-406) pc. o o 31,90 €
Spare Part:

100.005 [Hand crank aluminium new pc. o 32,70 €

100.006  [Blanking cover for crankshaft pc. ° 2,05€

100.007 |Crankshaft new type with square cut pc. o 165,90 €

100.008 |Allen screw M 12 x 25 pc. o o o 2,70 €

100.009  [Circlip g 17 mm pc. o 2,14 €

100.013  |Ergo-grip long (@ 22, 25 or 30 mm) pc. o d o o 107,00 €

100.014  [Wrap around grip band for ergo-grip (for one ergo-grip) pro part pc. ° o o o 8,60 €

100.017 |Crankshaft bearing sleeve (without bearing) pc. o 22,50 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 1




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+Cg Sugp.
100.018  [chain sprocket support complete with 3 chain rings pc. o o o o 309,30 €
100.019 |chain sprocket support 4L without chain rings - Version 2013 pc. o o o o 190,00 €
100.021 |Distance aluminium g 25 x 10 mm pc. o o o o 9,80 €
100.022  |Allen screw 8 x 45 mm for ergo-grip pc. o 1,10 €
100.024  [Locking washer Z form g 8 mm pc. o o o o 1,50 €
100.028 handrest for ergo gripped, incl. clamping (& from ergo gripped specify!) pc. o o o o 47,50 €
100.110 |Bowden cable complete for top derailleur (gear change on cockpit) pc. o 26,30 €
100.111 Bowden cable complete for bottom derailleur (gear change on cockpit) pc. o 26,30 €
100.112 |Bowden cable complete for brake (brake lever on cockpit) pc. o 26,30 €
100.113 [Brake cable inner pc. o 4 o o o 4,05 €
100.114  [Gear change cable inner pc. o o o o 540 €
100.115 [Cable end g 1,6 mm (brake) pc. o o o o o 1,00 €
100.116  [Cable end g 1,2 mm (gear change) pc. o o o o 1,00 €
100.208 Bowden cable set complete with protection sleeve set o 275,00 €
100.210 Bowden cable complete v_wth protection sleeve, bottom derailleur set o 69.00 €
(gear change on Ergo-Grip)
100.212  [Bowden cable complete with protection sleeve(for brake on Ergo-Grip) set o 69,00 €
100.215 |Stainless hose eylet pc. o o 6,50 €
100.219 |Oetiker clamp pc. o o o o 1,10 €
100.271  [Washer g 10 mm pc. o o o o o 0,50 €
100.302  |Steering damper pc. o o o 246,10 €
100.303 |6 mm pivot mount for steering damper pc. o o o 0,50 €
100.310  |[U-profile mounting pc. o o o 26,80 €
100.350 M.ountlng bracket for wheel chair (quick mounting system) oc. o . . 285,00 €
with telescope tubes, without clamps
100.351 Mounting bracket for wheel chair (quick mounting system) without clamps pc. o o o 165,90 €
100.352  [Connecting frame standard complete pc. ° o o 512,00 €
Clamping part for connecting frame
100.353 for wr?ee?cf]air model KUschgll "K4", "Advance"; Otto Bock "Ventus" pe. ® ® ® 89,00 €
100.353-20 |Clamping part for connecting frame, for frame @ 20,2mm pc. o o o 89,00 €
100.353-25 |Clamping part for connecting frame, for frame @ 25,1mm pc. ° o o 89,00 €
100.353-30 |Clamping part for connecting frame, for frame @ 30,2mm pc. o o o 89,00 €
100.353-32 |Clamping part for connecting frame, for frame @ 32,2mm pc. ° o o 89,00 €
100.353-35 |Clamping part for connecting frame, for frame @ 35,2mm pc. o o o 89,00 €
Clamping part for connecting frame
100.354 for wheelchair model Sopur "Helium", Progeo "Joker" pe. * ® ® 95,00 €
100.355 |Spacer sleeve for vario-connection frame pc. o o o 27,50 €
100.356  |Double clamp for connection frame pc. ° o o 131,95 €
100.357  |Mounting bracket for wheel chair, reinforced for over 100 kg weight, without clamps pc. o o o 290,00 €
100.360 |Rear telescope tube g 20 mm for mounting bracket pc. ° o o 71,00 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 2




Handbike | Traction device Speedbike
Part No. |Description Unit _ Vario Comp |Comp CcC Price
P Chall. |Vario Drive S+Cg Sugp.
100.361  [Front telescope tube g 18 mm for mounting bracket pc. o o o 36,50 €
100.370  |Connecting frame standard complete with steering head pc. o o o 588,00 €
100.371  [Connecting frame + 5 cm complete with steering head pc. o o o 512,50 €
100.372  [Star grip bolt M 8 x 20 pc. o d o 3,30 €
100.373  |Spring for star grip bolt pc. o o o 540 €
100.374  |Quick release lever (with spring) pc. o o o 8,25 €
100.375  [Locking "U" for mounting lever pc. o o o 34,00 €
100.376  [Mounting lever pc. ° o o 168,90 €
100.380  [Steering head pc. o 76,50 €
100.381 |Steering head bolt M 10 x 240 pc. o 7,00 €
Allen screw M 10 x 160 with domed locknut

100.382 (clamping bold quick mounting system on control head) pe. ® ® ® 4,30 €
100.390  [Connecting frame + 3 cm complete without steering head pc. o o o 512,00 €
100.396 Connecting frame + 3 cm complete(only lower profile 3 cm longer) pc. o o o 589,00 €
100.397  [Connecting frame + 5 cm complete pc. o o o 589,00 €
100.401  |Wire clip for hand parking brake pc. o o o o o 9,70 €
100.402  [Special spring for quick release lever pc. o o o 3,30 €
100.414  [Cockpit chain guard pc. o 14,70 €
100.415 [Chain guard low / specify fork length (S = 650, M = 700, L = 750) pc. o o 24,10 €
100.419 |Steering head bearing housing (without bearing) pc. o 10,70 €
100.422  |[Tube plug for ergo-grip g 22 mm pc. o o o o o 0,90 €
100.423  [Tube plug for derailleur tube g 30 mm pc. o o 0,90 €
100.425 [Distance washer 0,2 mm pc. o ol d 0,70 €
100.426  |Self taping screw 4,8 x 16 pc. o o o o 0,90 €
100.427 |Cross head screw M 5 x 16 pc. o ol d 1,50 €
100.510 Bike stand, folding pc. o o o 193,70 €
100.511  [Pipe cap g 12 mm (for bike rack) pc. ° o o 1,70 €
100.512  [Mounting clip for bike stand pc. o o o 1,70 €
100.513 [rubber cord / 500 mm pc. o d d 2,20 €
100.514 |washer 4 x 12 for rubber attachment pc. o o o 0,90 €
100.515 [Clamping part for bike rack right pc. ° o o 32,10 €
100.516 |Clamping part for bike rack left pc. o o o 32,10 €
100.517 |[Rack pipe g 12 mm niro pc. ° o o 41,60 €
100.518 |Allen screw 8 x 35 pc. o o o 1,80 €
100.519 [Locking pin @ 4 mm pc. ° o o 0,90 €
100.520 [Bike rack swiveling pc. o o o 549,00 €
100.522 |Console bracket for e-support engines pc. o o 124,20 €
100.523  [Battery bracket incl. support (specify fork length) pc. ° o 83,00 €
100.524 [Standpipe for bike rack new incl. guide bolt pc. o o o 163,00 €
100.525L |Guide bushing for standpipe left - bike rack swiveling pc. ° o o 98,00 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 3




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+Cg Sugp.
100.525R  |Guide bushing for standpipe right - bike rack swiveling pc. o o o 98,00 €
100.526  |Mounting plate for bike stand, folding pc. o o o 29,90 €
100.550  [Speedo pickup - wheel magnet for speedo pc. o o o o o 11,90 €
100.560 Cabel tie 145/3,4 pc. ° o (4 L g 0,30 €
100.631  [Mounting bracket for disc brake pc. o o o 16,10 €
100.642 Crank coaster-brake adapter for derailleur Speedbike comp. pc. o o o 995,00 €
100.650 |Frame handbike coated - 650er bracket pc. o 1 040,00 €
100.700 Frame handbike coated - 700er bracket pc. ol 1 040,00 €
100.750 |Frame handbike coated - 750er bracket pc. o 1 040,00 €
100.761 |Tetra-handle (incl. allen screw 8 x 55) pro part pc. o o o o 87,00 €
100.762  [Tetra-bracket for ergo grip pc. o o o o 43,00 €
100.763  |Adapter bracket for wrist brake pc. o o o o 199,00 €
100.900 CIam_p-Attachement for folding frame wheelchair with integrated stand and oc. . . 1890,00 €
steering damper

100.901  [Spacer for clamping-attachement for folding frame wheelchair, 30mm incl.screws pc. o o 55,70 €
100.902  |Clamping lever pc. o o 24,70 €
100.903  [Rast bar incl. lock nut set o o 64,20 €
100.904 |Clamp clip for standpipe pc. o o 42,90 €
100.905 [Grub screw pc. o o 7,00 €
100.906  [Slide bearing pc. o o 7,80 €
100.907  [Lash for steering damper, rubber (connecting frame) pc. o o 14,00 €
100.908 |Star grip screw for clamping-attachement for folding frame wheelchair M10 x 20 pc. o o 5,20 €
100.909 [Hand-spoked wheel for clamping-attachement for folding frame wheelchair pc. o o 69,00 €
100.910 |Standpipe for clamping-attachement for folding frame wheelchair pc. o o 320,00 €
100.911  [Plastic rollers for standpipe (New as of 04/22 => wheels 3") pc. o o 16,10 €
100.912 Rubber inlay for clamping part for clamping-attachement for folding frame wheelchair pc. o o 17,00 €
100.913 [Interlocking block for clamping-attachement for folding frame wheelchair pc. o o 201,00 €
100.914 |Clamp pipe for clamping-attachement for folding frame wheelchair pc. o o 146,00 €
100.915 [Clamping jaw-half, outside, incl. rubber inlay und plain bearing pc. o o 118,80 €
100.916 |Clamping jaw-half, inside, incl. rubber inlay und plain bearing pc. o o 114,50 €
100.917  [Support plate for clamping half, incl. plain bearing pc. o o 62,10 €
100.918 [Screw-on spigot pc. o o 60,50 €
100.919 [Pipe bend for clamping-attachement for folding frame wheelchair, (narrow or wide) pc. o o 134,00 €
100.920 [Bar for interlocking block pc. o o 82,00 €
100.921 [Lash for steering damper, rubber (clamping-attachement) pc. o o 14,00 €
100.922 |Steering head for clamping-attachement for folding frame wheelchair pc. o o 114,50 €
100.923 [Locknut for clamping jaw pc. d o 21,90 €
100.925 |Thread axle for clamping jaw pc. o o 43,80 €
120.010  [Fork head pc. o 210,30 €
120.011 [Lower frame pc. o o 536,00 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 4




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+Cg Sugp.
120.012  [Mounting plate battery, mounting horizontal pc. o o 26,30 €
140.011 |Front wheel 20" (19-406) (without tires and brake disc) pc. o o 135,90 €
140.014 |Handle bar stem 1 1/8" 40mm pc. o 29,00 €
140.015 [Handle bar grip pair o 31,00 €
140.016 |Handlebar - Flat-Bar Alu pc. o 38,90 €
140.017 Handlebar - Contec Rise 30 mm, different colors pc. o 43,70 €
140.018 |Handlebar - multi-function steering, set square adjustable 0 - 90° pc. d 145,95 €
140.020 Front wheel 24" (19-507) (without tires and brake disc) pc. o o 123,00 €
140.024 Fork head, aluminium, black anodized pc. o 103,70 €
140.200 Conversion for steering damper incl. steering stabilizer rubber (hard or soft) pc. o o 119,00 €
150.007  |Plug connection g 25 mm pc. o o o o 0,90 €
150.016  [Velcro thigh belt pc. o o 22,50 €
150.021  [Footrest guide sleeve pc. o o 15,00 €
150.022  |Velcro footribbon pc. o o 36,00 €
150.023  |Allen screw M 6 x 35 pc. o 1,00 €
150.026  [Blind rivet g 4 x 10 mm pc. o o 0,90 €
150.027 |Washer g 4 x 12 mm pc. d 0,90 €
150.030 [Backrest steel pc. o o 213,00 €
150.036  |Lock-nut M 6 pc. o o o o o 0,55 €
150.038 |Side plate for backrest pc. o o 26,80 €
150.039 |[Washer @5 pc. o o o o o 0,55 €
150.040 |Lock-nut M 5 pc. o o o o o 0,55 €
150.045 Axle tube 0°, 3°, 6°, 9° or 12° pc. ° ° 173,40 €
150.049 |Backrest carbon for speedbike - model 2015 pc. o o 612,00 €
150.050 |Bracket for backrest-tube pc. d d 8,50 €
150.051 |Axle bolt for screw axle left or right pc. o o 66,80 €
150.052  [Brake caliper mounting set SRAM set o o o o o 19,90 €
150.061 [Brake booster pc. o o o o o 22,50 €
150.062 Countersunk-hex screw M 6 x 40 pc. o o o o o 1,20 €
150.063  [Countersunk washer g 6 mm pc. o o 0,90 €
150.090  [Spiral spring M 10 x 1, with shrinking hose and clamp (without nipple screw) pc. ° o ° ° 38,00 €
150.091 S.plral.sprlng M10x1, ywth shrllnkm-g hose and clamp complete oc. o . o o 56,60 €
with nipple screw (specify version nipple screw !)

150.093 |Crank alu milled (standard or small) pc. o o o 104,90 €
150.094 |Crank shaft alu short pc. d o o 109,50 €
150.095 |Distance ring with bunch for crank alu short pc. o o o 14,50 €
150.096 |Alu distance ring 1 cm for crank alu short pc. o o o 10,00 €
150.097 |Alu distance ring 3 mm for crank alu short pc. o o o 6,50 €
150.098 |Alu distance ring 5 mm for crank alu short pc. o o o 9,60 €
150.099 |Alu end cap for crank alu short pc. o o o 14,00 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 5




Handbike | Traction device Speedbike
Part No. |Description Unit _ Vario Comp |Comp CcC Price
P Chall. |Vario Drive S+Cg Sugp.
150.100  [Crank bearing speedbike (new model) pc. o o 15,20 €
150.102  |Cockpit-chain guard aluminium (Bafang or Power Bike) pc. o o o 97,40 €
150.103  [Crank aluminium milled, 4 kant admission (middle motor) pc. o o o 104,90 €
150.104 |Chainring Z34 for Bafang middle motor pc. o o o 69,60 €
150.150  [Wheel bushing 0° pc. o o 35,30 €
150.151  |Wheel bushing 3° pc. o o 51,00 €
150.152  [Wheel bushing 6° pc. o o 51,00 €
150.153  |Wheel bushing 9° pc. o o 51,00 €
150.154  |Wheel bushing 12° pc. o o 51,00 €
150.200 Bowden cable for cockpit 620 mm long pc. o o 16,90 €
150.210  [Bowden cable for gear change and brake meter| ® o o o o 3,58 €
150.211 Bowden cable for gear change threefold pc. o o o 14,00 €
150.212 |Bowden cable for disc brake pc. o o d o o 14,00 €
150.213 Bowden cable for v-brake pc. o o o o o 14,00 €
150.214  [Nipple screw stainless - gear change pc. o o o o 19,50 €
150.215 |Nipple screw stainless - brake (M 10 x 1 or M 10 x 1,5) pc. o o o o 19,50 €
150.217  [Bowden spiral pc. o o 5,90 €
150.218  [Nippel screw for cockpit g 6 mm pc. o 19,50 €
150.221  [Speedo mounting pc. o o o 29,80 €
150.221.LANG|Speedo mounting long pc. o o o 32,00 €
150.802  [Aluminium chain guard, knee (specify model) pc. o o 37,50 €
160.000 [Rear frame Comp. pc. o 2 130,00 €
160.001  [Axle clamp g 30 mm pc. o o 143,00 €
160.002 |Clamp piece for backrest pc. o o 540 €
160.003  [Seat upholstery Comp. pc. o o 222,50 €
160.006 Rubber steering stabilizer (hard or soft version) pc. o o o o 23,00 €
160.007 _ [Footrest Comp pc. o o 38,60 €
160.008 |Clamp for footrest oval pc. o o 52,50 €
160.010  [Front frame Comp S pc. o o 1019,00 €
160.011 |Front frame Comp S + 8 cm extended pc. o o 1 019,00 €
160.012 |Headset pc. ° ° 18,75 €
160.013 [Steer tube pc. o o 35,40 €
160.014  |Backrest cushion Comp. pc. ° ° 219,00 €
160.024  |Axle clamp g 30 mm + 8cm (high position) pc. o o 102,80 €
160.032  [Clamp for backrest adjustment for telescope g 15 mm pc. ° ° 25,00 €
160.033  [Telescopic extension tube for backrest adjustment g 15 mm pc. o o 89,00 €
160.037  |Mounting bracket for rear brake calipper 9° (left or right side) pc. o o 33,60 €
160.038  [Mounting bracket for rear brake calipper 0° (left or right side) pc. o o 33,60 €
160.041 |Distance tube for quick release axle 1/2" pc. o o 3,90 €
160.042  |Quad-lever for quick release axle 1/2", 122 mm pc. o o 58,80 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 6




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+Cg Sugp.
160.044  |[Gearsensor, cable length 350mm pc. o o o 64,20 €
160.045 |Battery bracket, Comp. Version 2019 (complete) pc. o o 218,30 €
160.046  [Rubber stearing damper (hard version) pc. o o o o 23,00 €
160.047  [Brake adapter pc. o o 36,00 €
160.051  [Front wheel 27,5" (without tire, brake disc, sprocket) pc. o o 265,00 €
160.052 |Battery sleeve pc. ° o o o o 86,00 €
160.053  [Battery bracket, Comp. mounting plate pc. o o 89,85 €
160.054 Bracket for elbows brake adaption pc. o o 115,00 €
160.200  [Middle frame for speedbike comp CC suspension pc. o 590,00 €
160.201 Swing arm, speedbike comp CC suspension pc. o 730,00 €
160.202  |Rocker arm with bearing bushes for speedbike comp CC suspension pc. o 48,20 €
160.203 Screw for rocker arm M8 for speedbike comp CC suspension pc. o 36,00 €
160.204  [Adjusting screw for rocker arm for speedbike comp CC suspension pc. o 139,00 €
160.205 Bolt-on fork for swing arm pc. o 39,00 €
160.206 |Axle for bolt-on fork pc. o 23,60 €
160.207  |Shock absorber, air pressure, 190 mm pc. o 192,60 €
230.045 |Bearing bush for bullet and suspension pc. o 4,30 €
900.500 |Ball bearing 8 mm 608 2 RS pc. o o o o 11,90 €
900.504  |Ball bearing 10 mm 6000 2 RS pc. o o 4,66 €
900.505 |Ball bearing 17 mm 6003 2 RS pc. o o o o 590 €
AUFKL.28 |Reflector sticker for crank set o o o 7,50 €
Rims and Wheels:
100.051  |Front-wheel 24" (19-540) with Shimano-hub (without tyre, rotor and sprocket-set) pc. o o 211,00 €
100.411  [Rim 24" (19-540) 36H, black pc. ° o 30,00 €
100.412 |Rim 26" 32H, black pc. o o o o 20,40 €
100.413 Rim 26" 36H, black pc. ° o ° ° 20,40 €
140.012 |Rim 20" (406x19C) 36H, silver pc. o o 21,00 €
140.021 |Rim 16" 36H pc. o 32,50 €
150.602 |Quickrelease axle 1/2" long Version pc. o o 40,20 €
150.605 [Rear-wheel 26" (21-559) Mach1 with rear hub for disc brake, without tire pc. ° ° 221,00 €
150.620  [Rim tape pc. o o o o o 3,80 €
160.009  [Front-wheel 26" (21-559) Mach1 (withour tyre, rotor and sprocket-set) pc. ° o ° ° 245,00 €
160.026  |Rear wheel 26" (21-559) (without tire) pc. o o 154,10 €
160.027 |Rim 36" 36H DISC for rear-wheel pc. o d o o 28,00 €
160.039  |Hub 36H, for brake disc pc. o o 63,00 €
160.040 |Quick release axle 1/2" 122 mm with tetra clip for hub with 6 hole support pc. o o 69,00 €
160.048 |Rim 26" 32 hole DISC (23-559) pc. o o 28,70 €
160.049 |Rim 27,5" 36 hole DISC (for rear wheel) (23-584) pc. o o 26,80 €
160.050 [Rim 27,5" 32 hole DISC (for rear wheel) (23-584) pc. o o 28,90 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 7




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. |Vario Drive S+Cg Sugp.
900.410 |Rim 24" (507) pc. ° o 46,00 €
900.411 Hub 36H, black, 1/2" pc. L 25,70 €
900.412  |Spokes, different length, 2 mm stainless pc. o o o o o 1,40 €
Components:

100.025 [Sprocket Z 38 (4H) pc. o o o o 28,90 €
100.140  [Drive chain IG (8-speed) HG40 pc. o o 18,95 €
100.170  |V-Brake Alivio pc. o 4 4 o o 24,90 €
100.172  [Brake pad for v-brake pair | e o o o o 9,95 €
100.174 Power-modulator SM-PM40 pc. 4 o g 8,95 €
100.221 Bowden clamp @ 5,5mm pc. ° o ° ° 16,95 €
100.222  |Bowden end-cap @ 5mm pc. 0,25 €
100.223  [End-cap, gear cable 5mm pc. 4,95 €
100.610 |XT Rotor 160mm, 6 hole pc. 4 o g o o 40,00 €
100.611 |XT Rotor 203mm, 6 hole pc. o o d o o 51,00 €
100.617 | XT front derailleur, top swing, dual-pull, multi-clamp, MTB FD-T6000 pc. o o o o 39,95 €
100.621  [Deore rotor 160mm Center Lock or 6H (specify when ordering) pc. o o o o o 15,10 €
100.623  |Sprocket-set tenfold, Shimano 11-36 pc. o o o o 47,95 €
100.624  [Deore rear derailleur, 10x, black, long shadow pc. o o 69,00 €
100.625L |Deore thumd lever left without brake lever, 10f/2/3f pc. o o o o 56,90 €
100.625R  |Deore thumd lever right without brake lever, 10f/2/3f pc. o o o o 56,90 €
100.630 |Chain 9x, SRAM PC 971, 114 links pc. o o o o 27,80 €
100.632  |Shimano v-brake front, black pc. o ol d d d 25,50 €
100.633  |Alivio rear hub, disc, 36H, black pc. o o 39,90 €
100.634  [Alivio sprocket set 9x, Shimano, HG 400, 11-36 pc. o o 32,65 €
100.635 |Alivio rear derailleur 9x pc. o o 51,95 €
100.636  [Alivio front derailleur, top swing, dual-pull, multi-clamp, MTB pc. ° o 24,90 €
100.637L |Shimano lever, left, Alivio, 3x without brake lever pc. o o 29,95 €
100.637R |Shimano lever, right, Alivio, 9x without brake lever pc. ° o 29,95 €
100.638L |Brake lever for V-Brake with cable left pc. o o 25,95 €
100.638R  |Brake lever for V-Brake with cable right pc. ° o 25,95 €
100.641 |TEKTRO "AURIGA-TWIN" hydraulic disc-brake with 2 calippers for rear wheels set o o 289,00 €
100.644  [Chain 10x SRAM, PC1031 pc. ° o o o 30,90 €
100.646  [Braking disc, @ 160 mm, Center Lock or 6H (specify when ordering) pc. o o o o o 19,90 €
100.647  [Tektro, brake hose kit for Auriga Comp set ° o o ° ° 28,90 €
100.648 |Tektro, maintenance kit for Auriga Comp set o o o o o 12,80 €
100.649 |Tektro Orion HD-M750, hydr. Disc brake, 4 piston calipper pc. o o o o o 139,00 €
100.660  |SLX sprocket, 11x, 11-46, CS-M7000 Mod. 17 pc. ° o o o 110,90 €
100.661 |XT lever, 11x, right, RD-M8000 long+shadow pc. o o o o 135,00 €
100.662  |XT deraileur 11x, shadow+long, RD-M8000 Mod. 17 pc. ° o o o 135,00 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 8




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+Cg Sugp.
100.663 |Chain 11x, 1/2" x 11/128" pc. o o o o 61,00 €
120.020 |Sprocket 8x Shimano, HG41, 11-34 pc. o o 24,95 €
120.021 |Deraileur 7/8x, RD-M360, black pc. o o 36,40 €
120.022L |Thumd lever left, SL-M360, 3x pc. o o 54,60 €
120.022R | Thumd lever right, SL-M360, 8x pc. o o 54,60 €
120.023 Deraileur 7/8x, Top Swing Dual Pull pair o o 20,30 €
140.030 |Chain tensioner "Alfine" pc. o o 32,90 €
140.031  |Angled valve adapter AV pc. o 8,50 €
150.008  [Sprocket Z 32 (4H) pc. o o o o 18,95 €
150.009 [Sprocket Z 44 (4H) pc. o o 42,90 €
150.015 [Sporcket Z 22 (4H) pc. o o o o 8,95 €
150.070 Disc brake set mechanical pc. o o o 58,00 €
150.077 |Brake disc 160mm Tektro 6 hole, 2,3mm pc. o o d o o 24,95 €
150.078 Brake disc 203mm Tektro 6 hole, 2,3mm pc. o o o o o 29,95 €
150.080 |Quick release lever FHM785 for front wheel hub pc. o o o o 21,90 €
150.073  |Braking disc, 203 mm, 6H pc. o o o o o 32,30 €
150.075  [Braking pad for hydraulic disc brake (specify model) set o o o o o 25,40 €
150.076  |Braking pad for mechanical disc brake (specify model) set o o o 27,60 €
150.555L | Tektro Auriga brake lever left (without parking brake) pc. o o o o o 42,00 €
150.555R | Tektro Auriga brake lever right (without parking brake) pc. o o o o o 42,00 €
150.556L |Tektro Orion 4P brake lever left pc. o ol d d d 59,95 €
150.556R | Tektro Orion 4P brake lever right pc. o o o o o 59,95 €
150.558  [Tektro adapter, black, A-5, IS adapter, for 203mm front, incl. screw pc. o o o o 12,50 €
150.065 [Rear hub, 32H, M10 x 135mm, & 58 axle pc. 132,90 €
150.066 Rear hub, SRAM, 32H "TR XD", 6-hole disc brake mount pc. ° o ° ° 120,00 €
150.067 Cassette sprocket SRAM "XG-1275", 12x Eagle, 10-52 pc. o o o o 265,00 €
150.068 [Cassette SRAM "XG-1299", 12x Eagle, 10-52, gold pc. ° o ° ° 650,00 €
150.069 |Chainring screw black, M8,5, Set 4 Stiick set o o o o 8,50 €
150.079  |Quick release saddle clamp Contec "SC-250" pc. o d o o 6,50 €
150.086 |Chain SRAM "PC GX Eagle", 12x, 126 links pc. o o o o 39,90 €
150.087 [Chain SRAM "PC XX1 Eagle", 12x, 126 links, gold pc. o o o o 119,00 €
150.088 |Upgrade-Kit SRAM "GX Eagle AXS" pc. o o o o 790,00 €
Tubes:

900.200  |20x1 1/8" tube (28/40-406) SV6 pc. o o 8,90 €
900.201  |20x2.5" tube (40/62-406) AV7 pc. ° ° 8,90 €
900.203  |24x1" tube (20/28-540/541) AV9A pc. o o 8,90 €
900.204  |24x1.1-1.85" tube (28/47-507/541) AV9 pc. o o 8,90 €
900.205  |26x1" tube (20/25-559/571) AV11A pc. o o o o 8,90 €
900.206  |26x1.5-2.5" tube (40/62-559) AV13 pc. o o o o 8,90 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 9




Handbike

Traction device

Speedbike

Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. |Vario Drive S+CCp Sugp.
900.213  |27,5" tube (40/62-584/635) AV19 pc. o o 8,90 €
Accessory:

100.403 Bell pc. d d d d d 8,75 €
100.404  [Speedo pc. o o o o o 18,20 €
100.405 |Beverage bottle 750 ml pc. o d o o o 10,70 €
100.406 |Bottle cage pc. o d o o o 11,70 €
100.407 [Spoke reflecter pc. o 4 4 o o 1,25 €
100.408  [Reflector sticker for front and rear set o o o o o 4,70 €
100.409 |Battery for speedo pc. o 4 o o 4,95 €
100.410  [Halogen battery light incl. battery set pc. o o o o o 70,70 €
100.420 Shopping basket "Klickfix" black (without mounting) pc. o o o 39,90 €
100.421  [Socket for shopping basket pc. o o o 45,90 €
100.428 |Speedo, cable free pc. o 4 4 o o 49,30 €
100.430  [Mudguard black, spezify size: 16"/ 20" / 24" | 26" pc. o o o o o 13,90 €
100.432  |Beverage bottle 500 ml pc. o o o o o 9,95 €
100.434  [Bracket for battery light pc. o o o o o 49,00 €
100.435  |Klickfix mini-frame-adapter pc. o o o o o 19,25 €
100.436  [Klickfix saddlebag black, measures: 9 x 19 x 7cm pc. o o o o o 35,00 €
100.438 |Rear mirror black pc. o o o o o 65,90 €
100.439  [Bottle cage carbon pc. o o o o o 47,00 €
100.443  |Multitool 14-parts pc. o o o o o 35,00 €
100.444  [Damper pump "Rock Shox" pc. o 42,00 €
100.445 [Cartridge pump "EZ Push" pc. o o o o o 18,20 €
100.446  |Spare cartridge, 2 parts set o o o o o 7,40 €
100.447 |Hand compressor "Air Support Sport", black pc. o o o o o 32,10 €
100.448  [Mini pump "DuoAir Tele Lite", black pc. ° o o ° ° 21,00 €
100.449  |Repair Kit set o o o o o 4,90 €
100.452  |Klickfix basket pc. o d d 72,70 €
100.453 |Saddle box black, with adapter Klickfix, measures: 9 x 19 x 7cm pc. o o o o o 39,90 €
100.454  [Bycicle lock pc. ° o o ° ° 34,20 €
100.455 |Rear mirror, handle bar mount pc. o 38,00 €
100.459 LED-Light pc. d d d d d 64,20 €
100.465 [Rear mirror on ergo grip pc. o o o o 21,40 €
100.466  [Klickfix saddle back Micro 40, with adapter, 8x13x5cm pc. ° o o ° ° 29,90 €
100.486 |Cover tarpaulin for Handbike and wheelchair pc. o o o 326,00 €
100.800 [Cockpit chain guard carbon fibre pc. o 225,00 €
150.630  [Mudguard ahead pc. o o 17,20 €
150.640 [Safety pennant pc. o o 16,35 €
150.650 |Cover tarpaulin for speedbike pc. o o 360,00 €

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 10




Handbike | Traction device Speedbike
Part No. |Description Unit ) Vario Com Comp CC Price
P Chall. fVario Drive S+CCp Sugp.

160.004  [Seat cushion Comp. 5 cm pc. o o 145,00 €

160.005  [Luggage rack pc. o o 109,00 €

160.043  [Luggage rack, closeable, drawstring pc. o o 191,60 €

LUPINE.RUCK |Lupine rearlight, Model red light StvVZO, 40 Lumen set o d 4 o o 81,00 €
Lupine light, Model SL AF StvZO

LUPINE.SL.AF3.5 |daytime running light to 1000 Lumen, night driving light up to 1300 Lumen set ° L] (] ° ° 390,00 €
25 Wh/3.5Ah SmartCore battery

MOB-260020 |BOA battery powered, high pressure air pump pc. o o o o o 95,30 €

MOB-260024 |12V vehicle adapter for BOA pump pc. o o o o o 19,00 €

Price excl. 20% MwSt. - delivery ex works - valid from 01.04.2024

Technical changes and printing errors reserved.

The delivery remains the property of Alois Praschberger, Rolltechnik & Sport GmbH until full payment has been received

Errors, misprints and changes excepted. Our General Terms and Conditions apply.

Spar Parts Price Lists Bikes - page 11




